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B.Sc. 5th Semester (General) Examination, 2019 (CBCS)
Subject : Chemistry

Paper : DSE-1A
Full Marks: 40

Time: 2 Hours
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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.
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Answer any five questions: 2%5=10

R A A5G 20N T WS 8
(a) Explain that Fe(NH,), (SO,), - 6H,0 is a double salt but K4[Fe(CN);] is a complex compound.

Fe(NH,), (SO,), - 6H,0 @b t7e 199 &8 K, [Fe(CN)¢] @30 &ivel (@o—ip ¢ |

(b) What are biofertilizers?
ARFBANR F 2

(c) Write down the IUPAC name of the following:
ITUPAC SIS (eTCR1 8
[Pt(NH;),CL,]Cl, 9k K[Ag(CN),]

(d) Write down the different varieties of glassess.
fafen woem F5-93 AW @

(e) Give one example of each coordination and ionisation isomerism.

(PIUCETI @9 SIARIRETH FRROR @ 3 Bz Wi |
(f) What is the oxidation state of metal ion and geometry of the followings Compounds:
[Ni(CN),J*, [MnCl,}*
Moe Aot 4roq SmER G| @ Giiffos S @ ¢
[Ni(CN),J*~, [MnCl,]>
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(g) Write down the full names

(2)

of 1o and I NCHL

LPG @4a¢ LNG-@4 #fcal < el

i i CPor cment
(h) Give the composition ol PPortland «

Aete Bieieoa Gemlrsler e

IN2110
2. Answer any two questions:
@ @ Tl seda Bedq e 6
(a) (i) What is porcelein? How is it made?
cArEIEE e 2z @l ac old el 2 |
(ii) Describe the manufacture of ammonium sulphate as i NTOEEROWS . - dting
RCIEm Y@ SuGHRAR A a i oo el el el
(b) (i) Draw the geometrical structures of the following:
K3[A(C,0,)4] and [Zn(edt)]”
K;[AI(C,0,),] @98 [Zn(edta))’ ot aufffes ol wieel|
(i) [CoFg]* is paramagnetic but [Co(CN)el" is diamagnetic. Explain, 243l
W N ¢ [CoFgl* @6fd AMapualeBs fod [Co(CN)l" @it Wi EIte Gt
(c) (i) Write down the isomeric structure of the followings:
[Co(en),CI(NH4))** and [Rh(en),Cl,]"
frrferfae cnarsfera e smmaeefi e ¢
Co(en),CI(NH;)]** @4t [Rh(en),Cl,]"
(i) What are chelates? Draw the structure of [Ni(dmg).|, 240(241)=5
foeis Mes <=tz [Ni(dmg),|-a4 5194 Wi |
(d) (i) Compute CFSE for d"(Oh) and d’(«dl) in a strong ficld ligand,
d’(oh) @t d’(td)-aa @6 swrong field sy (i CFSE 991 e |
(i) Why the aqueous solution of [Cu(NH ), 1™ is deep blue? 34225
[CulNHy) @t @ellat wate iy et el o (oo ¢
3. Answer any two questions; {0320

@ @ 7l e Seq whe g

(a)

(i) Describe the manufacture of Calcium Ammonium Nitrate (CAN)
AP GBI A0 ANy stge s Al W

(ii) Briefly describe the manufacture oF phosphate glye
fertilizer, slag,

Discuss ity uses as o
N\n AT 4]

AT 2199 4G Zeltel] H1q0upes) A ety oy 19160 @ i N BT

SelfScan



(b)y (1)

(i)

(1)

(©) (1)

(ii)

(iii)

(iv)
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What is glazing? How is it carried out?
anfeia e 921 Aeica sl wat oy
What are the components of a computer? Explain the differences between ROM and
RAM.
AChicas f4fon Sslieaafer § $1e ROM 8 RAM-97 sty “Adamafa adfat zzat

Explain the various types of ‘errors’ with suitable examples. (242)+(2+1)43=10
Sty [ fon awm sa 9 @

Describe the postulates of Werner’s theory of coordination compound.

foe (@t Fiffe eiff srga Frerfah 2 =@

What are high spin and low spin complexes?

high spin 992 low spin (T 2=t S @@ ?

Discuss the limitations of VBT of coordination compound?

Gfoel (@9 T>ifFe VBT-93 Fraaeiaf sieEmw a6 |
What is potash fertilizer? 3+2+3+42=10
20P F 9o B @A ?

2V4x4=10

(d) Write short notes (any four):

e Bt 0 (7 @ 1A ¢

()

(i)

(i11)

(iv)

(v)

(vi)

(vii)

Chelate effect

st eferq

Crystal field splitting
f@5ie 7T splitting
Borosilicate glass
Standard deviation

4219 fapsfe

Accuracy and precision
frgerel waz gl
Lanthanide contraction
GBI AR |
John-Teller distortion

Gel-Coetia foAGa«l+
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